
 

Thin 16.33 Weisner'sthm
Let L be a lattice with minimum elt and

maximum elt T
Then for a E L A angelt that's not the maximum
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Red Instead of computing µ 8 x for all E i
we only need to compute µ for whose meet Y a is8
If we choose a to be a large elf the of these
ects will be small
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Proof if time



lattice
Recall the poset Mn of et partitions of G
Example
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Thin 16.33 works best if we choose a EP which is covered by T
Choose a n3 1,2 n B
Then 419 8 iff n and x k.n3ED3fk13 n i
Note Thereare my possibilities for some ta E n z
If is such an elf then it isomorphicto An 1
To see this think of x T as the
set of partitions of k n 1,2 I n n l
which is an n l elt set

By Thm 16.33
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a By induction we have
because Mmz on i L

rn onT3 fi nu





Note the s are 2,5 14
Funfact NC is the nth Catalan

Emma The one block elf 1,43 n is themaximum elf of NCn
Emma NCn is a meet semi lattice
with As beingthe set partition such thatmeet
the elts i andyo are in the same block in AB iff
i and j are in the sameblock in both A and P
i e I and j are connected in Ap iff

i and j are connected in both and p
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Prooff Let L p EN Cn
Let c be the partition of n st

inthesameblocki andyo are inthesameblock in c iff Tand j are connected in both and p
HWET Prove that c is non crossing


